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1 Which of the following oxides of nitrogen is isoelectronic with CO,?
(1) NO,
(2) N,O
(3) NO
@) NyO, .
T ¥ BT TEIeE @ oS, CO, B owEaa & ?
(1) NO,
2y N,O
(3) NO
4 N,0,

2 Principal, Azimuthal and Magnetic quantiim numbers are respectively
related to -

(1) Size, shape and orientation

(2) Shape, size and orientation

(3) Size, orientation and shape

{4) None of the above

o7, it ofk g Fwed e N Um qat ¥ wehud ¥
() omaR, 4@ o et o

) "=, o o aiftfimara #

() omerR, sfufra o dXew A

@ T ¥ B =
3 Which set of quantum numbers is not possible from the following ?

() n=31=2m=0,s=-12

2) n=31=2 m=-2,s8~=-1/72

(3) n=31=3m=-3s=-12

4 n=31=0m=0s=-1/2

TEH ¥ HE-T [V e wE §Wd T T 7
) n=31=2m=0s=-1/2

2) n=31=2 m=-2s=-12

3 n=31=3m=-3s5s=-1/72

4) n=31=0m=20,5=-1/2

03_A] 2 ML) iContd...



4 With which of the given pairs, CO, resembles (shape) ?

(1) HgCi,, C,H,

(2) HgCl,, SnCi,

(3) GC,H,, NO,

(4 N,0, NO,
ﬁmﬁ@faﬁw—mﬁ:ﬂcozﬁw@ﬂ?ﬁ%}m% ?
(1) HgCl, C,H,

(2) HgCl,, SnCl,

(3) C,H,, NO,

4) N0, No,

5 Which of the following would have a permanent dipole ?

(1) BF, 2) SiF,
(3) SF, 4)  XeF,
Pt & 3 Brr & el Rrym onst @ 7

(1) BF, @) SiF,
(3) SF, (4) XeF,

6 XelF, involves hybridization -

(1 sp? (2) spid

(3) spid? (4) None of these

XeF, # wHa@yor g -

(1) sp? (2)  sp3d

(3) sp3d? @) T ¥ B T/
7 Which one of the following is the smallest in size ?

( N3 2) 07

(3) F1 (4) Na'!

T ¥ B AR wwd e dm 7

(1) N3 @ 072

(3) F! (4) Na'!

03_A] 3 NN [Conta..




10

The increasing order of the ionic radii of the given isoelectronic species is -
(1) Crl, ca™, K, §2

(2) $2 ¢rl cat? K

(3) Ca*2, K*l crl, §2

(@) Kt §2 Ca*? Crl

TEwEe deie @ Tedl 35 omafw B @ W dm -

(1) CIl, ca*?, K+l §2

() S2 crl cat?, Xt

(3) Ca*?, K¥! CIl, §72

(4) KXK' §2 Ca'Z Crl

The isomerism exhibited in these compounds
[Co(NH;)6] [Cr{CN)g] and [Cr(NHj)e] [Co(CN)g] -
(1) Linkage isomerism

(2) Coordination isomerism

(3) Tonisation isomerism

(4) Polymerisation isomerism

Prer AP aweEa Wi B @ ¥ -
[Co(NH,)g} [Cr{CN)s] T [Cr(NH;)g] [Co(CN)g]
(1) % FHEggd

(2) SUEEHESTE  EEgEd

(3) SMFAIBIOT AHTETE

(4) aEHBLT GHEITA

The formula of complex

Potassium trichloromoncethylene platinate (II) is -

(1)  K[Pt(C,HCl5] (2) K[PtCl3(CH,y)]
(3) [K(Pt) (C;H,)Cl3] (4) K[Pt(Cly) (CyHy)]
ot dgpw

GRREE ERamEReRe Wise (1) &1 g3 8 —
(1) K[Pt(C,H,)Cl5] (2) K[PtCl;(C,Hy)]
(3) [KPt) (C,HyCl] (4)  K[Pt(Cl3} (C,Hy))

03_A] - TN (Contd...
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Silicones are -

(1) Polymer compounds of silicon and carbon

(2} Polymer compounds of silicon and hydrogen

(3) Polymer compounds of silicon, carbon and oxygen
(4) Polymer compounds of silicon, carbon and hydrogen

fhieewm €9 & -

() R ok o9 % agew G

2) el ok sghm & wgaw A

(3) fhﬁrwﬁ,iméﬁaﬂ'{mmﬁmﬂ%wﬁﬁm
) f@ﬁlﬂﬁ,wﬁﬁaﬁtm@mﬁﬂswﬁrﬁm

Structure of some common polymers are given, Which one is not correctly
represented ?

(1) Teflon -{—CF2 —CFﬁ;

(2) Neoprene ~{-CH, ~C=CH-CH, - CH,,
cl

(3) Terylene -£0OC —@—COOCHZ -CH,~0%,

{4) Nylon 66 ‘E NH(CH2)6 NHCO(CH2)4 —co {l—z

P8 YA Sgahl A W & w ¥ ) T § av-a w wd el
T fFm o %2

(1) A {CE - CFZJI-1

@ P {—CHZ—?=CH—CH2—CH2—h
cl

@) HEH  0C~<E>-COOCH, -CH, -0,
(4) A 66 —E NH(CH, ), NHCO(CH, ) -CO {IE

The plastics if are hard become soft and readily workable by addition of
certain compounds which are

(1) Catalysts (2) Telomers

(3} Plasticizers. (4)  Vulcanisers

mmméﬁ%,a%waﬂwsﬂamﬁaﬁaaﬁmwﬁ
= e A & e s 3 2

1) s@@ - (2) wid

(3) wiReameR (4) awhTEeE

03_A] 5 TN [Coned...




14 Maximum basicity is in -

(1) La(OH), ) Pr(CH),
(3) Gd(OH), (4) Lu(OH),
fr & fpua sfraw sRemn § ?

() La(OH); @ Pr(OH),
(3) Gd(OH), (4) Lu(OH),

15 The maximum oxidation stite exhibited by actinide ions is -

(1) +5 (2) +4
By +7 4 +8
TFRIES oAl BT Sifueeed Slieiiber ot qyfl SR ¥ -
(1) +5 @) +4
(3) +7 (4) +8

16  Which of the following Lanthanide ions has magnetic moment
Mo (in BM) = 7.94 2

(1) Eu® @) Gd™

(3) Nd¥? (4) Ce*?

e ¥ 4 9 @ odes o Ram gEe s,
Ly (BM A) 794 % 7

(1) Eu® (2) Gd*

(3) Nd*¥ (4) Ce*

17  Which of the following is not a ‘Lewis base' ?

a O(c,H,), @) N(CHy)
(3) Me;B @ NH,
e e e

(1) O(C2H5)2 | @ N{cH,)
(3) Me,B 4) NH,

03_Al 6 NN [Contd...



18 The acidic character of oxyacid of phosphorus should be in the order -

(1) HPO,> H,PO, >H.PO,
(2) H;PO,>H.PO, > H.PO,
(3) H;PO,>H.PO, >HPO,

(4) H3P0 . H3PO3 > H3PO2

W%WWHWWWWM-—

) H3PO2 > H3PO3 > H3P04
@) HPO,> H.PO, > H.PO.
(3) H;PO;>H,PO, > H,PO,

4 HSPO 1> H3P03 > H3P‘O2

19 Which has the least bond angle ?
() NH,
(G) H0
Brg ¥ e ww @ ¥ 2
(1) NH,
(3) HO

)
4)

@)
(4)

BCFE
CH,

BBF?_
CH,

20 Indicate the nature of bonding in diamond -

(1) Covalent

(2) Ionic

(3) Coordinate

{4) Hydrogen

A T A gl anfzg -
(1) weedie

2) oty

(3) SuHEHHNTE

(4) IS

03 A] | 7
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23

12-Crown—4 is -

0P el
(3) % (4) None of these

12-%137-4 (12-Crown—4) ¥ -

oD el
(3) é} @ T U BE T

In an aromatic compound electrons are present in 7 -electron cloud where
7 can not be -

]
S @ 3

3y 2 4y 1
T{ﬂi({ﬂf{ﬁ?ﬁﬁ’fﬁﬁﬁﬁ n—%%ﬁ%@ﬁ%ﬁﬁnmwﬁ
B gl —

(1) 2 3

1
2
2 @ 1

Which of the followings is decreasing reactivity order for an electrophilic
reagent 7

(A) Benzene, (B) Toluene, (C) Chlorobenzene, (D) Phenol

(1 A)>@® > (@) > (D) @ ®>O0>A >0

3 Oy=@>®B > @ O >®B)>{A> O

frr & ¥ Rrer Rig soadiftefrs sfteds & v Brasfiea @ wea gon
2ol

(1) i, (@) =fgesd, (@) T, (9) T

M @ > &> @ > 6 @ @>@>6>@

3 @>@®>® > @) @ @>@>6>@

03_A] 3 INRILI [Coned...
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Which of the following does not show Tautomerism ?

M ox=—_x=o0 2 ox_>o
2:}:0 < k:o
(3) 4 (4) S

e & @ e aaEmea w9 Sl &7
1 oxX=>=o0 @ oxX_>o

() Op: ? ) %O

On boiling Benzene diazonium chloride with dilute sulphuric acid will form -
(1) Toluene (2) Benzoic acid
(3) Benzene (4) Phenol

IS ST e W 9] GeRiS oW B oA seEd 1

T E —

(1) g Q) Aigwm o
(3) =i (4) wFIw
In reaction

HzO
(32 1 5 MgBr + CI-I2 - /CI-I2 —=>A

O
here 'A’ is -
(1) CQHSCHZCHO (2) C2H5CH2CH20H
¢) C,H,CH,O0H 4 C,H,CHO
arfafspar

H.,O

C,H MgBr +CH,— CH, -2, A
. \0/
T AR —
(1) CZHSCHchO (2) C2H5CH2CH20H
3) C,H,CH,0H (4 C,H,CHO

03 A] o AN (Contd...
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Compound which does not react with sodium -

(1) C,H,0H (2) CH,OCH,

(3) CH,COOH | (4) CH,CHOHCH,
T5 dfte W @REm § R T e -

(1 ¢C,H,OH ' (2) CH,OCH,

(3) CH,COOH ' (4) CH,CHOHCH,

The following reaction is an example of

COOH NH;
®+N3II —S0°C ©+C02 + Ny
(1) Schmidt reaction (2) Hunsdiecker reaction
(3} Kolbe's synthesis (4) Hell-Volhard - Zelinsky reaction
e erfufiper oo Seeam & 7
COOH NH,
@+N3II 0°C ®+C02+N')
(1) e sifwipan (2) TESTHT SR
(3) @ Hoeww (@) T A — e el
For which the Fehling Test is positive ?
(1) Acetaldehyde (2) Benzaldehyde
(3) Acetone (4) Alcohol
fras fg Hehim odewr s ¥ 7
() uHrfeess @) “ifeserss
(3) wHIA 4) TEBE

Alcohol shows -
(1) Reaction with HCHO {2) Leibermann's Nitroso reaction
(3) Reaction with neutral FeCl; (4) Iodoform Test

Uehislel oIl ¥ -

(1) HCHO & iy oiHisesn

(2) wWEEE ELE Stk

(3) wewW %iw wgs faead & @ ablem
(4) STEiSreM T

03_A] 10 TR (Contd...
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When formaldehyde is treated with ammonia “Urotropine’ forms,

the formula of which is -

(1) (CH2)6 N, @) (CH2)4 N,

3) (CHz)G Ng 4 (CHz )3 N,
ﬁkﬂg@mﬁﬁm%ﬁﬁmm@?ﬁtﬁqm%ﬁww%—

(1) (CH2)6 N, @ (CH2)4 N,

3) (CHz )6 Ny 4) (CH2)3 Ny

Wittig reaction gives following when reacts with aldehydes -

(I) Ketone

(2) Fatty acids

(3) Olefines

(4) - Epoxides
wqﬁ%msg%maﬁﬁmméﬁﬁﬁ%aa‘faﬁwmﬂm’%m%-
(1) *HEE

(2) wdm o

(3) eiifwite

@) sieEES

When formaldehyde reacts with KOH then methyl alcohol and potassium
formate form. This reaction is known as -

" (1) Perkin reaction (2) Claisen reaction

(3) Cannizaro reaction (4) Knoevenagel reaction

ﬁm#mﬁ%&mmﬁwﬁaﬁ:ﬁwmam%?ﬁ%
Wawﬁ%ﬁmuﬁﬁzmé\%%lmaﬁﬁwwm%~

) ufé et (2) T arfafpm
(3) H shufRran @) aew sifaiem

03.4] 1 IIGHAI [Conta...




34 In “Bathochromic effect” the absorption maximum in UV spectrum will
shift. Which of the following statement is correct ?

(1) Shorter wavelength (2) Intensity increases
(3) Longer wavelength (4) Intensity decreases

UV @928 § “duimie yae % i Sheass sEgiuer fereaie
S TG O s 0 s s 1 S

(1) wg avrH (2) <o S
(3) o FrRw @ qF w9 BB

35 Which of the following molecules will not show infrared spectrum ?

(1) HCI (2) CH,
(G) H (4 CO,
fr & & BF-w o) SERE Wagd WRR T8 sm P
(1) HCI (2) CH,
G) H, @ Co,

36 In the structure of the following molecule the absolute orientation of
C, and C; atom is -

1 CH;4
2
Cl — H
I1 3 OI1
4 CH;
(1) 28§, 38 2) 2R, 38
3) 25, 3R (4) 2R, 3R

P oy B ST § G, 9 G, WA @ T R g ¥ -

1 CH;
2
cl — H
3
H —2 —  OH
4CHs
(1) 28, 38 @) 2R, 38
3) 28, 3R (4 2R 3R

03_A) 12 WIS [Contd.



37  Erythrose and threose are -
(1) Diastereoisomers
(2) Optimers
(3) Cis-trans isomers

(4) Exist as meso forms

Tl ot g ¥ -
(1) sERefEr

(2) o

(3) Rz wmEEE
(@) P ' ¥ afae

38  Photochemical reaction is expressed in terms of “quantum yield ¢” which
is ratio of -

Number of molecules reacting in unit time

M Number of quanta absorbed in unit time

Number of molecules formed in unit time
2) Number of quanta absorbed in unit time

(3) Both (1) and (2)

Number of molecules reducing in unit time

* Number of quanta reducing in unit time

mmaﬂﬂwmﬁmmﬁwmaﬁ”ﬂlﬁﬂmmﬁaw%mﬁwﬁhﬁm
ST ¥, S ouT ¥ -

TR T A B s aner ervpett & ge
M Uhd 9H9 o S99 Famer 8 de

THA GG W T 9 el o T
@ THT G99 ﬁm&ﬁfﬁﬁmaﬁﬁw

@) W) T2

THT HTI A waRa g Ay stvpelt Y e
@ o v A ATIRE BN I T @ He

03_A) 13 TN (Contd...




39 An example of pseudo unimolecular reaction is -
(1) Dissociation of Hydrogen Iodide
(2) Hydrolysis of methyl acetate in dilute solution
(3) Dissociation of phosphorous pentachloride
(4) Decomposition of hydrogen peroxide
T oo uwias efifear B SwE ¥ -
(1) sEEeE omdEEs & e
@) a3 Reaw ¥ bW TR @ W e
(3) WEERE YeEERES B e

(4) TEISE URIES B STHES

40 The molar conductances of sodium acetate, hydrochloric acid and
sodium chloride at infinite dilution are 91 x 104, 426.16 x 10~* and
126.45x10~% S m2 mol™! respectively at 25°C, the molar conductance at
infinite dilution for acetic acid will be -

(1) 390.71 x 104 S m? mol!
(2) 400.71 x 10+ 8 m? mol™!
(3) 450.71 x 1074 § m? mol™!
(4) 453.71 x 104 8 m? mol-!

25°C WX aifsgm wdiee, TRSHmiG o Al |ITH wNEs @ o
@ 1R TIEY asal HEs § -

91 x 10~*, 426.16 x 10—+ &fX 126.45%x10~% § m? mol™! T QRile® 3rd &l
I TIAT YT AT Ol gl -

(1) 390.71 x 104 S m? mol-!
(2) 400,71 x 10* S m? mol!
(3) 450.71 x 10°* § m? mol!

4) 453.71x 104 S m? mol™!

03_Al 14 IR [Contd...
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When two metals are in contact, which metal in ‘Galvanic series’ undergoes
corrosion ?

(1) Higher metal (2) Lower metal
(3) Middle metal (4) None_of these

o A UGl T @ b wwh A ¥ @ 5w U e gEmer e d
<t feafree 9ol & % -

(1) ¥= uig (2) = ug
@) =@ g @ T 4 A T

Which is not a search engine ?

(1) MSN (2) Rediff

(3) Yahoo (4) Morzilla Fire Fox
e o @ B-wr ud ghem A& ¥ 2

(1) MSN (2) Rew

G) aw (4) 9RRIRT BRI HiEy

Which of the following is not a hardware ?

(1)  Printer (2) VDU

(3) Tape (4) Assembler
Frtifted o & #-a1 ww oYU W& ¥ ¢

1 frex ) VDU

(3) <u (4) TEEER

Which of the following expressions represents the ‘First law of
Thermodynamics’® ?

(1) AE=—-qg+w (2) AE=q+w

3y AE=q-w (4 AE=-q-w

P ¥ @ #h-w wleor Swmites % yem frw @ auta 2
(1) AE=-q+w ‘ 2y AE=q+w ‘
(3 AE=q-w (4) AE=—q-w

03_A] 15 (I AT [Contd...
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In which case reaction is spontanecus ?

(1) AH is positive (+ve), AS is negative (—ve)

(2) AH is negative (—ve), AS is positive (+vé) ‘

(3) Both (1) and (2)

(4) None of these

for ufifefy o @ el @Rl -

(1) AH 0w (+ve) 3, AS FONcH® (-ve) &
(2) AH FES (-ve) ¥, AS sFmE (fve) ¥
(@) @ () W@ (2)

@ T ¥ 35 T

The eluent strength is a measure of -
(1) Solvent absorption energy

(2) Solvent adsorption energy

(3) Solvent diffusivity

{4) Solvent mixing index

T g Y ¥ -

() famrrs @ e Sei oW
(2) Taeers o tfusioor we &
() fuwws @ e e

() T e gEwe @

HPLC method stands for -

(1) High Pressure Liquid Chromatography

{2) High Performance Liquid Chromatography
{3) Highly Oxidized Liquid Chromatography
(4) Both (1) and (2) above

HPLC fafyr 1 orf & -

(1) S= 3@ W §F 99 wigel

(2) v Feee ga ool afgsr

(3) = TRBRS wF TU WiEw!

(4) v < (1) w (2)

03_A] 16
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48  Which of the following statements is false about Raman spectroscopy ?
(1) CCly is used as a solvent.
(2) Hg,Cl, exhibits sharpe Raman lines.
(3) CaCl, shows Raman lines.
(4y BeCl, exhibits faint Raman lines.
O WEERd % I A @S- % o & 7
() CCl, ® T@gs o 7% S & o & )
(2) HgCl, T wF @l weiifm s § )
(3) CaCl, ™9 @d gonfar ¥
(4) BeCl, T@b ™7 Y@@ gofa ¥

49 The median of following data
25, 34, 31, 23, 22, 26, 35, 28, 20 and 32 will be -
(1) 26 () 27
(3) 28 4 29
1 offmst & foo Siftsw (median) &1 79 g —
25, 34, 31, 23, 22, 26, 35, 28, 20 Ug 32
(1) 26 Q) 27

(3) 28 (4) 29

50 Central atom of the following compounds has one lone pair of electrons
and three bond pairs of electrons -

(1) H,8 @) AICl,
(3) NH; (4) BF;
Rrefirfad A & P T ¥ T THE e g T A et
TaE gm ¥ -
1) H,S @) AlCl,
(3) NH, 4) BE,

03_A} 17 (NN [Contd...




51 Coordination number and oxidation state of chromium in K3 [Cr (C20 A )3]

are respectively -

(1) 3 and +3 2) 3 and 0

(3) 6 and +3 4 4 and +2

mibe B K[ cr(c,0,), | # so wwdiv don v shwr o
& AW AW T —

(1) 3 uF +3 (2) 3T 0

G) 6 +3 @) 47 +2

52 What is the percentage of sulphur used in vulcanisation of rubber ?

(1) 03% 2) 05%
(3) 33% (4) 55%
W & GEHNBO N WS @ ykisE W R & -
(1) 03% (2) 05%
(3) 33% @) 55%

53 Which one of the following is fully fluorinated polymer ?

(1) Neoprene (2) Teflon

(3) Thiokol 4) PVC

frm & @ - w efen wRE g agaw § 2

() e (2) THAE

(3) umERR @ WA (PVO)
54 H3BO; is -

(1) Monobasic acid and weak Lewis acid
{2) Monobasic acid and weak Bronsted acid
(3) Monobasic acid and strong Lewis acid
(4) Tribasic acid and weak Bronsted acid

H,BO; ¥ -

(1) & a9 O geie wsd o
(2) Tb adg @ 3w ARs o
(3) UH @ Ud ySW TEW oW
@ Palm @ g atwes e

03.Al 18 [HHHNH [Coned...
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55 The correct order of hybridization of the central atom in the following
. -2 _
species - NI, (PtCl 4) ,PCl; and BCL, is -

(1) dsp?, dsp3, sp?, sp?
(2) sp3, dsp?, dsp3, sp?
(3) dsp? sp?, sp3, dsp’
(4) dsp?, sp3, sp?, dsp3
frtaaa @i (species) ¥ Fdlir wam] & "o @ @ w9 ¥

NH,, (ptc,) ", POl T BO,

(1) dsp?, dsp3, sp?, sp
(2) sp3, dsp?, dsp?, sp?
(3) dsp?, sp?, sp?, dsp?
(4) dsp?, sp, sp?, dsp’

56 The number of unshared electrons on the carbene carbon is -

(I 1 2 2
3 3 “@ 4
FEE b HET H GEEHNG IRaREl B gen dhr ¥ -
1 @ 2
(3) 3 @) 4

57 Ethylacetoacetate is prepared from ethyl acetate by the -
(1) Benzoin condensation
{2} Aldol condensation
(3) Claisen condensation

(4) Dieckmann condensation

i ufieioRiee, ohm e ara fee Rift @ @ o @0
(1) ST Ee

(2) TR gE

(3) TIGT du

@) Rgua g

03_Al _ 19 [N (Contd...




58 Glycerol is a -

(1) Trihydric alcohol {2) Monohydric alcohol
(3) Primary alcohol (4) Secondary alcohol
o ¥ -

(1) TEERRS Twie 2) HrEERE TEpRiw
() wals uwEE (4) Tdras genreTe

59 Catalyst used in Rosenmund reduction is -
(1) Palladium / BaSO,
(2} Zn-Hg Couple
(3) LiAlH,
(4) Ni/H,
Ages aree ¥ B § @ a-w sde @ oW B & 2
(1) YuifsTm / BaSO,
(2) Zn-Hg g™ (Couple)
(3) LiAlH,
(4) Ni/H,

60 The end product in the following sequence of reaction is -

1%HgSO, CH;MgX B [O]

HC=CH — 5 >
20/0H2504

(1) Acetic acid (2) TIsopropyl alcohol

(3) Acetone (4) Ethanol

Frfaied orgwe Brr & eafam sar ¥ -

1% HgSO,, " CH;MgX B [O]
20%H,80, i 7

(1) URew ama (2) oW TwbR
3) R (4) TIAT

03_A] 20 G [Contd...
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61 The acid showing salt like character in aqueous solution is -
(1) Acetic acid {2) Benzoic acid
(3) Formic acid (4) o -aminoacetic acid
frafefas 4 fre oo & @ faee § @ow & @nm Sl g
W % ?

(1) WRke e @ d=E e
(3) witis o @ o-ud tdiew et
62 By the presence of halogen atom in the ring, basic properties of
aniline is -
(1) Increased (2) Decreased
(3) Unchanged (4) Doubled
U 6 G 9 e ooy a0 suRaly @ ardm TereR -
(1) e 3T (2) we Y
3) owREkls @ TN

63 Among the following the weakest base is -

(1) C,H,CH,NH, () CH,CH,NHCH,
3) O,NCH,NH, 4y CH,NHCHO
frfifea F 9 S w98 gd@ ax ¥ ?

(1) C H,CH,NH, 2) C¢H,CH,NHCH,
(3) O,NCH,NH, (4) CH,NHCHO

64 The reaction intermediate in the Reimer - Tiemann reaction is -
(1) Formyl anion
(2) Formyl carbocation
(3) Dichlorocarbene

(4) Dichloro methyl carbocation
Im—Epm erfufen & wemed] S @m0 -
(1) s g
(2) wHEw FEiEEA
(3) SEFT BRI
(@) SERFA AW FEibET
03_A] 21 (IR (Contd...




65 Which of the following molecules will not show IR spectrum ?

(1) H, (2) HCl
() CHy # H0
Frefafes § ¥ SF-wr o] seve @wH 8 swigm 7
(1) H, (2) HCI
(3) CH, 4 }126

66 The chemical shift value of a proton on § scale is 4; The value on

T scale is -

(1) 14 (2) 6

(3) 2.5 4 4

Uk Wer ¥ vEEbe g el e § YA M W 4 %, @ ¢ e W
qH BN

(1) 14 (2) 6

3) 25 4 4

67 Identify the isomerism shown by -

H3C\C/C2H§ H3C\C/C2HS
Br-” NI 1~ S Br

(1) Ionization (2) Coordination
(3) Geometrical (4) Optical

Fraffad Afel g @@ wemem Rl o ¥ 2

H3C\C _CaHs H;C\C _Cals
B Ng N

(1) oEET (2) vUHEEHH
G) vairR @) vFiys

03.A] | 22 HNHHAIR [Contd...
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68 A compound whose atoms are superimposable on the mirror images even
though they contain asymmetric carbon atom is called -

(1) A meso compound
(2) An erythro isomer
{3) A threo isomer

{4) An eutectic compound

A forad T gdor ¥ whife o semife O & auf o srawba
HET WA BT 3, F woeAW & -

() w& HE dfe

(2) b Ral gEEd

¢) w P e

(4) UH TERaE (Jefaes) it

69 In Arrhenius plot, intercept is equal to -
(1) —Eq/R @ WA
3) InK 4) log;o A
ST awg (W) N oI@vs & |iH BN
(D —Ea/R 2) InA

3) InK 4) logyy A

70  Half life -of a reaction is found to be inversely proportional to a cube of
its mitial concentration. The order of reaction is -

(1 2 2 5
(3) 3 “@ 4

g iR W ord oty SEEl Wi A % uT $ ehUEURT Ul
¢ 1 e # wife @ AW @ -

1) 2 ] | @ 5
B) 3 @) 4

L B 23 [INANIK) [Contd...
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Specific conductance of 0.1 M nitric acid is 6.3 x 102 ohm™! el
The molar conductance of solution is -

(1) 630 ohm! cm? mole~! (2) 315 ohm! cm? mole ! -

(3) 100 ohm™! ¢cm? mole! (4) 6300 ohm! cm? mole-!

0.1 M “islte o =t fafdite am@sar 6.3 x 1072 ohm! em! ¥, o fawmw
B AR Aewdr B -

(1) 630 ohm™! c¢m? mole™! (2) 315 ohm™! em? mole™!

(3) 100 ohm! cm? mole™! (4) 6300 ohm™! cm? mole~!

Corrosion is basically a -

(1) Altered reaction in presence of H,0
(2) Electrochemical phenomenon

(3) Interaction

(4) Union between light and heavy metal

HART Sy W & -

(1) @ @ euRafy & Rkl afilea
(2) Tgavwawate wfeem

(3) urafer e

(4) T Td 9 Oy b 9 g (gREe)

Rusting of iron is catalysed by which of the following ?

(1) Fe @ 0
(3} Zn (4) H*
e F ¥ fred gu @ ¥ S @REM) @1 saRw dar ¥ 7
(1) Fe 2) O,
(3) Zn @ gt

‘FORTRAN’ programming language is commonly used for -
(1) Mathematical problem solving

(2) Business data processing "

(3) Both mathematical problem and business data processing
(4) Real times system applications

BREFE WUPH W WA W B & -

(1) 7w gmeae §

(2) @i Suw d@meas o :
(3) T gam ud el Su e 4 o
(4) =g SR WOl oruErn W

03_A] 24 IR [Contd..



75 In which reaction there will be increase in entropy ?

+H.0O,, = NaOH +lH

() Nag+H,0 "3 Py

) A.g+(aq)+Cl (a )a AgCl()

1
@) H, (® +EO2 (g)—> HZO(I)

2+

) Cu(2a+q) +4NH, () - I:Cu (NH3 )4 ](aq)
e o ofifen & ot & g &0l 2

1
(1) Na(s) + HZO(I) - NaOH(]) + > Hz(g)

2) Ag (aq) +ClI' )—) AgCl()
1
3 H, (© +502 "~ H,0(1)

2+

) Cu(z‘::] +4NH, () |:Cu (NH3)4](aq)

76 Mossbaur effect is also related with resonance fluorescence of -

(1) Beta rays {2) Alpha rays

(3) Gamma rays (4) X-rays

AgaR awe T feas oe TR @ e &7
(1) 9 et (B-rays) (2) oI ROl

(3) P ey @) X-Fwi (X-rays)

77 How many hyperfine lines in ESR spectrum are shown by Mn2* ?

(1y 3 : @ s
3y 2 “@ 6
Mn?* &1 ESR ®Waed § fpaer sifogen Yend <R &l ¥ 7
(H 3 2 5
(3) 2 4 6

03_4] 25 RN (Contd...
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80

The percentage of constituent A in a compound AB were found to be 48.32,
48.36, 48.23, 48.11 and 48.38. What is the mean deviation in it ?

(1) 0.09 2 19
(3) 0.9 @ 9

T Al AB H orawa A 9 Tiawien 48,32, 48.36, 48.23, 48,11 T 48,38
Rl S | wed REes (Mean deviation) W WM w1 BeW 7

(1) 0.09 2 19
(3) 09 4 9

There are no $-S bond in -

() 8,03"
@ 8,0
(3) $,02
@) 8,0

1 & Toped S-S oy afl & 7

1) 8,07
@) 8,00
3) 8,0
@ 8,03

Which has the lowest anion to cation size ratio 7

(1) LiF (2) NaF

3) Csl (4) CsF

Fe § @ Reed O Td W § SR @l oUW ad ¥ 7
(1) LiF (2) _ NaF

(3) Csl (4) CsF

03_A) 26 NG EHIIf) [Coned...
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82

The complex ion which has no 'd' electron in the central metal atom is -

1) [c.o(NHB)ﬁ]3+ @ [re(cn),]”

o [efo)]” © [wo,]

Prer R dgw o b ddw vy ¥ @ sdegi @ 3 7
w [cofrar,) T @ [re(en), ]

o [erfmo),]” @ [mno,]"

Which of the following is not correctly matched ?
(1) Neoprene 'ECHZ —(II = CHy- CH, }n
Cl
2) Nylon 66  HINH-(CH,)s—NH-CO- (CHy),-CT, OH

' 0
(3) Terylene  HEO-CH,-CH,- & (o> & , OH
| CH;

(4) PMMA £ CHQ-(I:}H
COOCH,

P 4 a9 ge (match) T % ?

(1) ﬁtﬁ-;ﬂ:[ _ECHz—(I:'__ CHZ" CH2 }I'l
Cl

(2) EEH 66 HENH-(CH,)s—NH-CO - (CH,), -C1, OH

0 3

() &N H'EO+CH2—~CH2—C—@—CI n OH
CH

@ Wommad f CHz—(IZ—}n
COOCH,

0341 27 (NN (Contd...
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Which of the following oxides is the most acidic ?

(1) N,04 @) B0
3) As205 4) Sb205
e A s oifeigs orafus ol ¥ 7

1 N,05 @) B0;
3)  AsO, (4) Sb,0,

Allyl bromide when reacts with HBr; 1, 2 dibromide is formed because of -
(1) Inductive effect (2) Tautomerisation

(3) Hyper conjugation (4) Non-polar mechanism

ufee s W HBr & W1 fpa @ W1, 2 = dms 9fe wwar
¥ - T B ¥ -

(1) WO w9E (2) TTEEaE

(3 ofd dg=a (4) aydm Femfaly

The nucleophilic attack on a C-C double bond generates -

(1) Carbocation (2) Carbon jon
(3) Carbene (4) Free radical
C-C fegrer W s V& oTFAT IS HY@l ¥ -
(1) FEBaET (2) wEHE SH
(3) BEH @ TR T

Acidic chlorides can be converted into ketones as the only organic product
by the use of -

(1) RMgX (2) RLi

(3) R,Cd (4) R,Zn
ﬁwﬁmmﬁmmﬁgm@ﬁﬂamﬁmw%ﬁqﬁaﬁh
T o wHar ¥ ?

(1) RMgX () RLi

(3) R,Cd (4) R,Zn

03_A] 28 IMIBINHIN; [Contd...
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The foliowing reaction that can be affected by sodium in dry ether is

(1) Cannizaro Reaction (2) Acyloin Condensation

(3) Birch Reduction (4) Clemenson Reduction

e aiftfipan <t g $ex & WiRom g wruRa A S e 3, 9% § -
(1) e arffa @ -ufemis e

(3) ‘= swEmE (4) T STaTE

The region extending from 200 — 380 nm is called -

(1) Near UV (2) Quartz UV

(3) Both (1) and (2) (4) Visible

200 — 380 nm A & 99 FH &7 BeAT § -

(1) PFee UV () EEs UV

(3) SWEd (1) & (2) aF @) 3w

B~ cleavage of a bond with ¥—H rearrangement to form a cation and
natural molecule i3 called -

(1) Mc Lafferty rearrangement  (2) Retro Diels Alder reaction

(3) MH-transfer rearrangement (4) Skeletal rearrangement

y-H gaiimg % g fadr av o B-Reew Rwer sar o nglas
o UE FeET ¥, HEERT 5 -

(1) & dwdl gAdE @ W Re-uwy athle

(3) H-wFN= yAEaE (4) Thotew YA

How many geometrical isomers of this compound are possible ?

CH-~

CH - CH;

(1) o 2 2

(3 4 4) 6

e it & fpon waiBET Tmgg 99 § 7
CH» |
CH - CH;

(1) o 2 2

3 4 (4) 6

03_A] 29 IMEIHAIE; (Contd...
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95

Phosphorus undergoes slow combustion and glows in dark. The process
is called - :

(1) Photochemical change (2) Chemiluminescence

(3) Fluoroscence (4) Phosphorescence

WIAWHITE BT ST 6T BiaT & U S8 ¥ TWehal & | 59 WA @l Beg ¥ -
(1) " vEEte afiads 2) Tt wdita
(3) wiwdirg 4 ety

For a reaction E, = 0 and K=3.2 x 10* 57! at 300°K. The value of K
at 310°K would be -

1) 6.4x10% 5! (2) 3.2x10% ¢!

(3) 3.2x108 g} 4) 3.2x10% g1

foodl arffipan o 300°K @ E, = 0 @& K=3.2x10% 5713 @t K &1 7
310°K WX B -

(1) 6.4x10% 571 (2) 3.2x10% g7

(3) 3.2x108 g1 4) 3.2x10° g

The oxidation potential of a hydrogen electrode at pH = 10 and P, = 1is
(1) 0.51 volt (2) 0.00 volt

(3) 159 volt {4) 0.059 volt

PH = 10 Q3 py, = 1 W TEIOH gaaeis & omade fa &m —
(1) 0.51 volt (2) 0.00 volt

(3) 1.59 volt (4) 0.059 voit

What is indicated when a chemical cell's voltage has dropped to zero ?
(1) The concentration of the reactant has increased.

(2) The concentration of the product has decreased.

(3) The cell reaction has reached equilibrium.

(4) The cell reaction has completely stopped.

W9 T (At 89 @ e 3 G R o § 9% Shie e ¥ -
(1) TRIRE ® 9rxdl 98 ol 2 |

(2) SEE W g "9 ST 8 )

(3) @@ athfrar aFrERen W qgw Wil ¥ |
(4) da orfhfrr qoiamr a9 wRG ¥

1 kB {One kB) is equal to

(1) 1000 Bit (2) 1024 Bit
(3) 10000 Bit (4) 100000 Bit
T kB 9UEY ¥ -

(1) 1000 f&=e ) 1024 e
(3) 10000 fae (4) 100000 =

03_A) 30 NI RANY (Coned...
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The standard entropy S° of a substance is -
(1) The entropy at 0°C and 1 atm pressure
(2) The entropy at 0 K and 1 atm pressure
(3) The entropy at 25°C and 1 atm pressure
(4) The entropy at 25 K and 1 atm pressure

T8l og & WM T S0 w ¥ oW e

(1) T 0°C Td 1 g "usee @ WX ¥ |
(2) TR 0K T | Ag Aeeg I W T
(3) TR 25°C wg 1 91y "vedlg T W ¥ |
(@) wEW 25 K g 1 91y AvSehig g TR ¥

For physiosorption heat of adsorption is generally in the range

(1) 20 - 40 &J 2) 20 - 60 kJ

(3) 100 - 150 kJ (4) 300 - 400 kJ

Wifree afeliwer & aifteliewt S o1 9@ w: Fre gom ¥ @ 3
(1) 20 - 40 kJ (2) 20 - 60 KkJ

(3) 100 - 150 kJ (4) 300 - 400 kJ

In this 2.87629, the number of significant figure is -

1 7 2) 6
3y o @ 5
2.87629 ¥, wide ole @ TEm & -

1 7 ) 6
(3) 0 @ 5

Polarography is a voltametric technique where working electrode is -
(1) Platinum electrode (2) Gold electrode
(3) Glassy carbon electrode (GCE) (4) Dropping mercury electrode (DME)

QAN U et q%he & WEl GGl SWaes Bl § —
(1) T HEgE () @i gaws
(3) YO’ ST TWegis (GCE) (4) ST w@d sweeis (DME)

The Ilkovic equation is -

(1)  i=607n m¥3Y/6p¥2c (2) i=607n mY3/Sp¥2C
(3} 1=607nm2*Y3DY2C 4) 1=607n m? /oD C
FGCAICCARC I Gored S

(1) i=6070 m¥3/6DY2¢ (2} i=607n mY3YopY2¢
() i=607nm??1Y3pY2C @ =60 m¥/opc

03_A] 3 IREMHIK) [Contd...
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